AGRICULTURE & HORTICULTURE
GS (18.04.2021)

1. Transfer of learning refers to
a. Forget after learning
b. Remember after learning
c. Use of learnt knowledge in the learning of new things
d. It’s not possible
e. Answer not known
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The Credit Authorisation Scheme introduced by

a. International Monetary Fund b. Reserve Bank of India
c. Commercial Bank d. Exim Bank

e. Answer not known
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Accuracy of scientific knowledge is enhanced through

a. Direct observation b. Experimental observation
c. Indirect observation d. Inferential observation

e. Answer not known
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4. Consider the following statement:
1. India buys Eighth position in terms of nominal Gross Domestic product
among the world economy




. India buys third in terms of purchasing power parity among the world
economy

3. UGANDA is included in G-20

4. Highest internet users in the world is China as per 2017 statement

Among these, which of the statements are correct?

a. (1) and (2) only b. (2) and (3) only c. (2) and (4) only

d. (4) only e. Answer not known
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The colour of light that travels through glass with minimum speed is

a. Violet b. Blue c. Red d. Green e. Answer not known
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The measures of tenancy reforms pertain to
1. Regulation of rent
2. Security of tenure
3. Ownership rights for tenants
4. Ceilings on land holdings
a. (2) and (3) only b. (1) and (2) only c. (2), (3) and (4) only
d. (1), (2) and (3) only e. Answer not known
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Assertion  : The hardboiled egg and raw egg can be distinguished on the
basis of spinning of both
Reason : The moment of inertia of hardboiled egg is more as compared
to raw egg.
a. Both Assertion and Reason are true and Reason is the correct explanation
of the Assertion
b. Both Assertion and Reason are true and Reason are true but the Reason is
not correct explanation of the Assertion
c. Assertion is true but the Reason is false
d. Assertion is false but the Reason is true

e. Answer not known
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8. Consider the following statements related to the Growth of population in
underdeveloped nations:
1. Low savings due to high level consumption expenditure
2. It destroys the natural resources
3. It stimulate greater productivity and savings
Select the correct answers by using the codes:

a.lonly b.2only c¢.1and2 d.2and 3 e. Answer not known
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The salt formed by the combination of the mixture of solutions of two simple
salts and which lose identity of the salts from which it is formed.

a. Complex salt b. Double salt c. Mohr’s salt

d. Alkali salt e. Answer not known
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The programme which was launched in 2005-06, to provide basic amenities
and infrastructure to rural India is called as :

a. Pradhan Mantri Gram Sadak Yojana

b. Bharat Nirman and Rural Housing

c. National Rural Livelihood Mission

d. National Rural Health Mission

e. Answer not known
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What is the nitrogenous waste excreted by shark?

a. Trimethly lamine oxide b. Tetramethy lamine oxide
c. Dimethy lamine oxide d. Monomethy lamine oxide
e. Answer not known
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C. MLIBHMH0 DM LHMF B d. GurBambHmmed SiemeT HMFH
e. alewL Oz flwealsdenso

Purpose of Agricultural Producers Co-operative marketing society is
1. Sale of agricultural products at higher price

2. Produce pledge loan for agriculturalist's maximum amount of loan
3. To create comfortable market zone

4. To preserve the goods

a. 1 correct b. 1, 2 correct c.1,2, 3 correct

d. 3, 4 correct e. Answer not known
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What is rancidity?

a. Decaying of carbohydrate b. Decaying of protein

c. Decaying of fruits d. Decaying of lipids

e. Answer not known
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Which of the following is wrongly matched?

a. Swachh Bharat Abhiyan - Urban and rural areas

b. Amrut Scheme - Municipal corporation

c. NEEDS - Micro, small and medium enterprises
d. Pradhan Mantri Fasal Bima Yojana - Environment

e. Answer not known
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Which among the following is regarded as the leading cause of air pollution?
a. Agriculture b. Warfare
c. Mining and Construction d. Motor Vehicle Emissions

e. Answer not known
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The value of a motor cycle 2years ago was I70,000. It depreciates at the rate of
4%p.a. Find its present value.

a. 65312 b. 64312  ¢.64512  d. 65412 e. Answer not known
B FHBJ UTHAID RN alenev 2 LWIbhHEHHG (a1 70,000-945 EHHDHIHI.
o151 Ay ewih Caxmmid 4%  eipd  GoBABH.  DHET  HBCLTMSHW
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a. 65312 b. 64312  c. 64512  d. 65412 e. alewL QFflwaisdensv

A sum of I46,000 was lent out at Simple Interest and the end of lyear and 9
months, the total amount was 352,440. Find the rate of interest per year.

a.5% b. 6% c. 7% d. 8% e. Answer not known
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The cost of a machine is I18,000 and it depreciates at 16% % annually. Its

value after 2 years will be
a.<12,000 b.%12,500 c.315,000 d.316,500 e. Answer not known

T BubdrsHar alemed I 18,000 SiFH UMBHHG 16%% alsb  GsulnTed
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The curved surface area of a right circular cone of height 15cm and base
diameter 16cm is
a. 607 cm? b. 687 cm? c. 120z cm?

d. 136 7 cm? e. Answer not known
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A machine bought at Rs.50, 000 falls in its value by 8% of its value every year.
Find the value of the machine after 2years.

a. 340,000 b.343,220 c.342,000 d.3 42,320 e. Answer not known
ah 50,000 wHlIeTen M BUIBHTIOTEIH DISHST aleneoulsd e6lIOeUT(H  aIHL (LPLD
8% GoBdBal ealled 2 aIBLBIGEHHGIIE DIHET allened 6656 ?

a. 340,000 b.343,220 c.42,000 d.X 42,320 e. alenL Oz flwaisdamnev

The functions of NITI are

1. Decentralized Planning

2. Harmonization

3. Capacity Building

4. External Consultancy

Out of these, which are correct answers?

a. (1) and (2) b. (2) and (3) c. (1) (2) and (3)




d. (2) and (4) e. Answer not known
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The Boolean expression for XOR gate is

a. AB+AB  b. AB c. A+B d. AB+AB e. Answer not known
XOR auruieOeir 1L60liesr FLoeTum(®

a. AB+AB b. AB c. A+B d. AB+AB e. alowL G fwalebenen

Bhagat Singh was sentenced to death because of

a. Attempted to assassinate Charles Tegart

b. Leaded the Hindustan Socialist Republic Association

c. Advocated Socialism and Communism

d. Lahore Conspiracy Case

e. Answer not known
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Match the following awards 2019:
A. Best Translator Award 1. Pulavar V. Prabhakaran
B. Ayothi Dasa Pandithar Award 2. Liyagath Alikhan
C. Umaru Pulavar Award 3. Vatsala
D. Kabilar Award 4. Pulavar Vettri Azagan
B C
1 2
3 4
2
1

D
4
2
1

3
3 4

e. Answer not known
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C. 2_giiyeveaT alHal 3. eudhgeum
D. slevT almasl 4. Yeveu. Oeumnsluipasest
B CcC D
1 2 4
3 4 2
3 2 1
3 1 4
L OFflwealsdenso
(I): The old leaders of the congress were conscious of the ruinous economic
policy of the British Government.
(IT): Dadabhai Naoroji, Ramesh Chandra Dutt, D.E. Wacha and others had
appreciated the anti-indian economic policies of the British Government.
a. (I) is True b. (I) and (II) are true c. (I)and (II) are false
d. (Il)is true e. Answer not known
I STRSTFGT U  HmevalTdeT LIl ad SIFFTRISHHET IO STLOT60T
CuTmHeMTEHTIS CaTeTensd  DIMIHS(HHSH60TT.
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Match the following:

A. Lahore Congress 1. Forward Bloc
B. Tricolour flag 2. Ravi river

C. Nethaji 3. Poorna Swaraj
d. Union Jack 4. British Flag

e. Answer not known
Liledreu(meueteumens  OILIT(HSHSHIb:
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b. 1 3 2
C. 3 2 1
d. 1 3 4
e. allewL  OFHflwaledensv
Pre-matric scholarship is given to
a. students from 9th standard to 12th standard level
b. students of 9th standard to 10th standard level
c. students from 6t standard to 10th standard level
d. students from 6th standard to 12th standard level
e. Answer not known
Ofl Gl fé o sHalsHosTensulet LweTelsel
a. 91b UG (IpSHe0 12-10 UGLIL QU LIgSHHe0I3  LOTEmTeUTH6NT
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C. 6 aUGLIY (PFH6O 10-D UG 6UEDT LIGEHDIETE  LDT6MIGUTEHEIT
d. 6-b QB (1PpBHeO 12-D QUG e LIgdhd6Hs  LOTEmTeUTEH6IT
e. alemL G flualedensv

Which of the following was one of the impact of Swadeshi movement in the

communication system of India?

a. Passive resistance b. Surat Split

c. Hindus alienated Muslims d. Popularity of Regional language
e. Answer not known

SaHeniLmeudefled 61 FGHF AuibssHIar aleeraursd BbHHU HH6UeOL OCHTLITL
SlemBuled gBUBSHIUILL L SHTHHD 616160 ?
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b. &rs enay
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d. eu Ly Gumpfseier OFevard@ GLEBIHEM

e. alemL OFfwaleoensv

Who was the architect of atomic research in India?

a. Nehru b. Homi Bhaba c. Bhatnagar
d. Abdul Kalam  e. Answer not known

OhIHW Sjem SITUIFFHuler FmLl wimr?

a. Gmm b. Gammd wumum C. ULBT&IT
d. eimed seomd e alenL Gxflweaisdenev

30. The British historians call the Revolt of 1857
a. Freedom Struggle b. The Great Revolt  c. War of Independence
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d. Sepoy Mutiny e. Answer not known

&B|DSHEMIL_ITHB 1857 BRG] YL Slemul SIBISHI60 auFeuTBmTATWITSHe6NT
SDIMLDH B E0TT

a. al(pHmev BUisbHLD b. Qu@d SHenirsd C. &FHHAHTU Gum

d. Aoumul sevsid e. alewL Gxfuwalseney

Which among the following is not a book / work of Arundathi Roy?

a. The God of small things b. War Talk

c. The Ministry of utmost happiness d. The 3 mistakes of my life

e. Answer not known

SIS TemTUILBLINEUSH61T 6D Q115 USHSHBLD / [BIT6L60 SI(HHSHIH JTUWITED
(WSLUILIL a1606n60?

a. Ffw elegwikiselar &L a6 b. Gunit Gué&s

c. UGhs wADFHAwTer Liewf d. eas1 eumpelest 3 Heumickeit

e. alemL G flualedensv

Traditionally, the land of Tamils is presented as containing 5major
physiographic divisions. Match the following.
A. Kurinji 1. Fertile region
B. Mullai 2. Forest region
C. Marudham 3. Coastal region
D. Neidhal 4. Mountainous region

A B C
a. 3 2 1
b.1 3 2
c.3 1 4
d.4 2 1

e. Answer not known
Buwieoemol  yaluiwed HWOp  umgbuflwgHHed  (BuBensd  FTIHSH  DIEDLDSH6EV)
peomidener 5 Guepd  Ufleysentas aupmigdma.  LeteuheussieuBnehhal
QUTHSHHISH:
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B. @psbemev
C. w@msb
D. Qpuiged
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World’s longest beach is found in

a. Brazil b.India  c. Mexico d.USA e. Answer not known
2 uFlel WS HemoTen SLBHMT SHBTL Q60 2 6iTeng
a. UGrdled  b. @bFHwr c. GodeniCsm d. USA e. alewL Gxfualsdeneo

Hindu Religious Endowments Act was passed for the first time by the
Government of

a. Justice Party b. Congress Party c. DMK Party

d. AIADMK Party e. Answer not known

ObgH FOW SBHSLLMNMEF FLLID (PSS (PHeVeL @hHs sl Fuler oy g
HT60HHL HlenmGeuBmriILIL L &)?

a. pHHHLF b. smmidyerd w1 C. FymalL (weGamBme HLpaHLD
d. amasHhHHL Siesent HrTall (WeTGabBd: HLPSHLD

e. alemL G flualedensv

Pick out option which consists of BRIC Nations.

a. Britain, Rio de Janerio, Italy, Congo, Switzerland
b. Brazil, Russia, India, China, South Africa

c. Bhutan, Rumania, Indonesia, Canada, Sumatra

d. Bangladesh, Russia, Iceland Chile, Sweden

e. Answer not known

BRICs mi(aemen 2 eiten_s&ul alenlemul 0sfe] GFuis.
a. UficLer, MGwmy MerflGwm, @&HHTe0, STHCHT, Fall FTevmhdl
b. 1IGrdled, @reowit, BbHwir, e, CHer Sunifdst
c. yrrmeir, (HGwewim, QbCHTCIauIT, HeTL T, SHLOSHIT
d. unisaCsHags, BFasuim, merveoThal, e, Fail e

e. alewL Oz flwealsdenso

A competitive exam paper has 100 questions for which 1 mark will be

awarded for each correct answer and % mark will be deducted for every

wrong answer, %mark will be deducted for non- answering. Find the total

mark scored by a candidate who answered 88 questions of which 61 are
correct.

a. 61 b. 44.5 c.44.25 d. 54 e. Answer not known
100 elemmésel Osmewi 6@ Gumiyd GxiTaled gflwmer allewLwelld@d el

alamalB@Gn 1 WwHUICUT PHISILGHDBEH. HUBTe  aledL5E % D& L1G\LI6u0T




S0 HSILGHBS). Broguild alevL WelsbaTH Bxoiallsh G, % LD 1OILIGUTT

sPSSIUGHBH. @ BaiTeuT 88 aleamdbseEnd@d ol welsHBTT. SjeuBmleT 61
alemesendd gFflwmer  allewl WellsHmebSBIT  elelled  SeuT OuBId  SHIICLIEHT
QRIBIRIOTN

a. 61 b. 44.5 c.44.25 d. 54 e. alewL QFHflwalevenev

A student can type 21page in 15 minutes. At the same rate, how long will it
take the student to type 84 pages?
a. 60 minutes b. 50 minutes c. 70 minutes

d. 45 minutes e. Answer not known

@ LmeeueTey 15 B mselled 21 uSssmISmens HULFSH GFuiw wpub. B6s%
GoumpiH P60, SIHG WTewIUMISEG 84 LSIHGT FHULFH CFUiwl eleleuene] Gryb
LGLD?

a. 60 PO miweit b. 50 Mo Fiser c. 70 PliiLmiselt

d. 45 PioLmiseit e. alewL OFHflwalevenev

The breadth of a rectangular field is 60% of its length. If the perimeter of the
field is 800m, what is the area of the field?

a. 18750 sq. m. b. 37500 sq. m. c. 40000 sq. m.

d. 48000 sq. m. e. Answer not known

R OFeleus eauwielesr Sided, BengHear 60% @b, Sielauuwielde giBpeTe 300
15 6Teolled Sj6leUUIe6T LIFLILIGTENGISH SHT6uT.

a. 18750 sq. m. b. 37500 sq. m. c. 40000 sq. m.

d. 48000 sq. m. e. alemL  Gafuialsvemsv

Find the G.C. D. of the following:

3,4

35x°y%z*,49x%yx®,14xy°z*
a. 7x°y’z* b. 7xyz C. 14x°y*z* d. 7xy 22 e. Answer not known
1B.0um.en. (G.C.D) srewis.

34

35x°y°%z*,49x%yx®,14xy*z*
a. 7x°y’z’ b. 7xyz c. 14x°y°z* d. 7x y 22 e. alewL GaMuwelsdamev

10% of 5 and 5% of 10 add upto

a. 0.10 b. 0.25 c. 1.0 d.2.5 e. Answer not known
aS5-a1 10% wmpp 10-e1 5% pFuwieuBilest FnBH60

a.0.10 b. 0.25 c. 1.0 d.2.5 e. alewL O fuiaieoenev

After removing the causes of one’s suffering the one with crystal knowledge
find its
a. Combined book b. Secondary book c. Derived book

12




d. Primary / Original text e. Answer not known
alleneruilesr BHmIS alenmislul DBlaller (LPenETeU6T &H6uTL G
a. LIGV[BIT60 b. siememimpmed C. aufipmeD
d. (psHeommed e. alenL OsMNwalevemev

Match the Wild Life sanctuaries in India with respective state:
A. Bhitarkanika 1. Goa

B. Nokrek 2. Odisha

C. Dalma 3. Meghalaya

D. Bondla 4. Jharkhand

A
2
1
3

3

Answer not known
BphHwraler eeT alevmiF FTeRITeORIBM6N DIFH6T LOTH6OMIGBEHL 6T CUT(HHSHIH:
A. NssTseisr 1. Gameur
B. Gpr&ys 2. QloaT
C. vLmeoiom 3. Gsmeoulr
D. OQurmest eom 4. eqmiTaeuTL_
A
a 2
b. 1
C. 3
d 3
e. alemL OFfwealevensv

Which metal was used by Romans to mint the coins that were brought to
India (Tamil Nadu)?

a. Copper b.Gold c.Lead d. Silver e. Answer not known
CaTL&HHFHe0  CrmomeiwTser 6bhsd o GoorashHed @bdHwunalBg  Csmem
aurtiLl L &rgidenen Gleuefuil L eorT?

a. Qg b. Qumer  c. muD d. Qeueirer e. alewL Gxfuialeenso

When is the Sivalik hill located?
a. Outer Himalaya b. Greater Himalaya c. Sub -Himalaya

d. Central Himalaya e. Answer not known
Foumellds OemeL 6IhIEG SIMLDHRHI6T6NTHI?




a. Gaiefiliyp GouIDEmN6V b. o wir Gwuwinemev
C. 2_LI-SIDUILDEn6Y d. wHHw Siouioenev
e. alowL  OFfwalsdensv

Which one of the following is the North Dravidian linguistic group?
a. Malto b. Telugu c.Gondi d.Kannada e. Answer not known

oL FHgmelL Owrf & eg?
a. 1meo@Lm b. GmamiG c. Gameing

d. seer b e. alewL Gxfuwalseneo

Assertion (A) : Attitude of the eastern Himalayas increases rapidly unlike
Western Himalayas
Reason (R) : World’s highest peaks, Everest and Kanchanjunga are situated

in the vicinity of Bihar and West Bengal Plains

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are true and but (R) is not the correct explanation of (A)

c. (A) is true but (R) is false

d. (A) is false but (R) is true

e. Answer not known

aop  (A) : Hwse Bwreowl  wososTLfar o wgb  GuomeE — @Smeoul
CHTLemIBLITED D606V alenIheH 2 WITSH MBS

smpenoid (R) : o edler  1We o wjgwomer  HojhisenTen  eleugerOl.  LOBHID
HehFaImiaT  Curaipemey  DIMWHAHBLILGS  LeammT  oBpID
Cup@eumias Fwbeuel LGHuler LmTenauulsd DIEMLOHBIGTENS.

a. (A) wpp (R) Gremin afl, Gweud (R), (A)-uler sfwmer alendsd L@

b. (A) LD[‘_B@JLD (R) @yemi &M, spemed (R),(A) — uler sflwmenr alendaiosen

c. (A) afl, (R) gflusdev

d. (A Erﬂmrrmg,j ovev, (R) aflwmeng

e. alewL O flwealsdenso

Name the first Tamil Newspaper, which published political cartoons during
the colonial rule

a. The Mirror b. Suthanthira Sangu c. The India

d. Swedeshamitran e. Answer not known

SRIHCoWT HTVHH6L 6hFH SO CFUIHSSTET DTFUId SHSHSHIL LI BISHD6T
(WPFHede0 Gleueuil L g)?

a. & Wy b. &abAr FWiIEG c. & @pgHwr

d. &8saiidyes e. alewL Gxfuialstensy




The Lankavatara Sutra deals with

a. Life of Mahavira b. Teachings of Mahayana Buddhism
c. Teachings of Hinduism d. Vedas

e. Answer not known

QUBIBTAUSTIT EHHTD BwBL LBY dnpieB)

a. waTaiyfer aTbHemns b. wsTwTewt LUHHIndh OBmeiTendHelt

C. @pHHIDSH QBTETENHHEI d. Geugmimeit

e. alemL g flwalsbenev

established a fact after a careful study of Roman Coins that
commercial contacts between Rome and South India commenced during the
reign of Emperor Augustus.
a. Father Heras b. Mr. R. Sewell c. D.D. Kosambi

d. Dr. U.V. Swaminatha Iyer e. Answer not known

Gupram oBeOLa  &TeHHCCW  Gymomyfles@  OgeaeibAHUTAIBGL  euemlHs
OHTLTYH6T DHHBHH 6leilend Grmomyf HTeRILRIGMET HeUTHSHIL 3T LIgSHSHLILIBGE,
Béammplenet GeueMiiL®G &g uieuT

a. Hhmgd anslymerd b. A®m. R. GFGeusd c. D.D. Gsrgmbli
d. wenerraut U.V. seumdiprg  squii e. alewL OFHfuiaisoensv

Who was the first scholar to use the term ”Indus Civilization”?

a. Mortimer Wheeler b. Dr. Pran Nath

c. Morris J. Spivack d. Sir John Marshal

e. Answer not known

fbg Brafsbd a6 amTdHmedmuwl LWaLGSHIHW (PpHe0 DIMBIEhT wimT?
a. LommgIDT  &feu b. (peweseu LITEIHTS

c. Guomfled J. eroileurd d. g1 e TTageD

e. alemL OFflwalsdenso

The combined programme of Self-Respectors and and Communists came to
be called as plan.

a. Chengalpat Plan b. Erode Plan c. Virudhunagar Plan
d. Salem Plan e. Answer not known

awoflwrens BuIssSSTT WwBpId sbwelad / GursamLawarndseie gl (b
FHL L HHBS SILLLD 6I6OTLIT.

a. Qamseoul B H LD b. "Gy &b c. al(haIBHT S LD

d. Gzeudb H LD e. alenL Oxflwalsdenev

If the battle of Plassey was considered to be the beginning of British Rule then
by which battle they completed the conquest of India?
a. Battle of Yandaboo b. Battle of Arcot c. Battle of Panipat
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d. Battle of Kirkee e. Answer not known

NemmAUBunlesr cpevd @phHuimaled HRFHCCW S OFHTLRISIGCLBBS 61660
abd Gumilar cpevld OIGHI (PUPEMLOLIGILIBBGI?

a. wmewrty, Gumir b. eybar® Gumi C. umeolu Guimir

d. &rad Gumir e. alemL Oxfwealsdeamev

Who pronounced the words, ‘Sangamazhi Tamil’?

a. Thirupan Aazhvar b. Kuzhasekar Aazhvar c. Aandal
d. Thirumangai Aazhvar e. Answer not known

“‘gmisoel FHONN® — elesTmBeuT

a. FHHLIUTeTTDEITT b. @euBaasympeurT

C. SLEWIL it d. SHmmbienswimpet

e. alewL OFflwalsensy

Match the List I with List II and choose your answer from codes given
below:

List (Person) List II (Titles)
A. Arya Bhatta 1. Newton of India
B. Skanda Gupta 2. Hero of Asia and Europe
C. Chandra Gupta II 3. Destroyer of the Sakas
D. Kalidasa 4. Shakespeare of India

A

e. Answer not known
&Cp Oamhsaslu’ L afleng [ woBmpid euflws 1 9N L suementenws QUT[HESSHIS:
aifleng 1 (muiT) aufleng II (UL L1D)
A. oflwiu’ L 1. @baHumeler Myl L e
B. ebaba@lisT 2. 9w wpmpid WCrmiuTelesr anCym
C. shgreust 11 3. FTHTHMEN DIOGHSHAIT
D. srefgrar 4. @bgHuraler GagdheroLiwliT
A
a 1
b. 3
C. 4
d 1 3
e.

alewL  Gaflualsvensv




Which one of the following is used for protecting one’s homeland during
war?

a. Vethchi  b. Karanthai c.Vanji  d.Kaanji e. Answer not known
SIHTL ML & HTHBHIH OFmeien’t GumfiBld - ypHHlenent 615I?

a. Geud b. syHms c. aughd d. arehdl e. alewL GMNualedenso

A can do a piece of work in 20 days and B can do it in 30 days. How long
will they take to do the work together?

a.15 b. 12 c.20 d. 25 e. Answer not known

A eaaiuat @@ Geoumevenwt 20 mpT Hefled B ereiuet 218 Geusmevenuws 30
BT S6eMeod OQFuig (Wliuriser. Seualmeumbd Caibhal  oieiGmevenwsd OCFUIS
(PIY&SH 615HHEMET [BTLH6T SLEHLD?

a.15 b. 12 c. 20 d. 25 e. el Gxfwalsbeney

A can do a piece of work in 8 days and B can do the same piece of work in 12
days. A and B together complete the same piece of work and get 200 as the
combined wages. B’s share of the wages will be

a.X75 b.X 80 c.X85 d.< 90 e. Answer not known

@@ Gouemevenul A, 8 Bl &efled Gauigdl @pplunt. 91085 Geaumevenul (PgpoHs B-
&& 12 pr sl G, obHFH Coumevenu! A wBmid B @meumbd Caiba (posHdi
T 200 w1 @pBdementbgd eaduioms GUBBTE DiHed B-dbarear 2agund

a.%75 b.X 80 c.X 85 d.Z 90 e. alenL  Gafuelsvemsv

The highest number which divides the product of any three consecutive even
natural number is

a.?2 b. 4 c.8 d.16 e. Answer not known
SIbSHHBHD cpeaim BT L Buled eeidala CLUHBHMD UGBS OSLIGLIMW
6T6U0T

a.2 b. 4 c.8 d.16 e. alenL  GaMuialsvemsv

When two dice are rolled the number of outcomes of getting the sum of the
faces equal to 8 is?

a.4 b.5 c.6 d.7 e. Answer not known

B usmLFeT o (HULUUGWOUTEH SeuBpleT (1ps  HUBeNaET FnBHeo 8-9iH
B HULSBSTET eUTUILILEH6I6 6160016001 SHenD

alewL  Gaflualsvensv

a. 4 b.5 c.6 d.7 e. alenL 05 fwalevemev

The probability a red marble selected at a random from a Jar containing p

‘“”_Jr
r

red, q blue and “r” green marble is
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q b. —P c. —P*A d. P*T
p+q+r p+q+r p+q+r p+q+r
e. Answer not known
p - dleully, - Beod, I- UFME BB FIPTRISBHET 2 66N H GHBmeuuled EHbHSI
R FaulBHn nlpTHIGD SHenL LILSBHTET HHDHBITIH
a b. —F c. P4 d P
p+q+r p+q+r p+q+r p+q+r
e. alemL G flwalevensv

a.

a.

The Indus Valley Civilization, people had a trade contact with

1. Central Asia Mesopotamia

2. North Eastern Afghanistan

3. Gujarat and Baluchiston

4. Persia

a. (1) only b. (2) only c. (3) only d. (1),(2),(3),(4)

e. Answer not known

Fbgl Foaulel 10HH6T 6hd HTBHEHL 60T euTenllll CHTLTL CBTewN(HHSHTTH6N
. wHFHW AT GoguGLmbwim
. QULAIPHEG HISTENErOSHT60!

. GXQITSH WLBDID  LeVISlerd&Teir
. uny&sLd

. (1) w @ b. (2) L (B c. (3) L (@w d. (1),(2),(3),(4)
. el OFflwaisdensv

Which one of the statement is incorrect regarding Velunachiar?

I. She was born as a Princess of Ramanathapuram

II. Her husband was Muthu Vaduga Udaya Devar

III. Hyder Ali invaded Sivaganga in 1780 and defeated Velunachiar

IV. She utilised the Second Mysore War to enter the Sivaganga

a.(l)only  b.(II) only c. (IIT) only d. (IV) only e. Answer not known

SaeniLaumnled Geugyl HTFFWTT UMY SHeummer FnBml 6157

[. ®eut gmopTHUTD Demeuyd SyeumT

II. SoumedLw sewieuT (PHH aBs 2 emlw CahHeulT

[I. 1780 ewamsT 960 Fausmmsulear WBa uUdL  abHdl  CeusbTaSuimeny
CarTBHIYHSHTIT.

IV. et @rewiLmb enio@T CUTeNT LWSTLGSGHS FaISHIeNDHDHEH6T HIHLDHSBTT.

a.l @B b. II o @B c. III o (pb

d. IV o (b e. el OxMNwalevemev

Muhammad Gawan was appointed as Governor of which region by
Humayun?
a. Bijapur  b. Golkonda c.Bedar d.Birar e. Answer not known
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(PHIOG HeUTenen 6% LITTHHUISHHT SLEHBHITH QSLOTULET BUILOIGSHTT?
a. ey b. GsmevOemmemiLT c. Guwmi
d. dynir e. alenL Oxflwalsdensv

Assertion (A) : South Indian Rebellion failed miserably.

Reason (R) : There was no co-ordination between the leaders.

a. (A) is Right, (R) is Wrong

b. (A) is Right (R) is not the correct explanation of (A)

c. Both (A) and (R) are Wrong

d. (A) is Right (R) is the correct explanation of (A)

e. Answer not known

apmp (A): OsaeibSwu Urld e uwnhsyors CameaiuBpasl.

SITJ600TLD ( ): mevalTaaienL G @B Be060Ts0 B HHHHI
a. (A) sl (R) som

b. (A) &M (R), (A)-wer aflwmer afendasLosso

c. (A), (R) @yemido sHeum

d. (A) @ (R), (A)-wlerr sflwmer alendasid

e. alewL G fwalsdenev

Amirkhusrau hailed which city as the “Second Heaven and a great centre of
Justice”.

a. Mathura b. Agra  c. Kashmir d. Delhi e. Answer not known
ISTGe®d  6hd bBIJHmS @FewiLibd Ognidsd wBpld Wes Fpbhsy B
LIMUMeVeDoT  emLOWILD 6Te0T G L iT?

a. gIyT b. euEm ¢ sTOUSyHID d. OLebed e. alewL Oxflwalsdenev

Who is called as Paanan according to Tamil Literature?

a. One who sings a song b. One who beats the Parai
c. One who stitch the fishnet d. None of these

e. Answer not known

LIT600T60T  6TGOTLIGUT  WIMiT?

a. um_(uumBueuT b. uemsB SugliLeuT

c. eiauenew OBUILIGUT d. BeauBmie eFHIOD BeLen6v

e. alemL OFfwaleoensv

The Mughal Emperor who gave permission to East India Company to set up
trading post Surat?
a. Akbar b. Aurangazeb c. Jahangir

d. Shahjahan e. Answer not known
GIHHL  AUTHHH MOULSHNSH DMDEDS QRS0 HPSHHIHW  SD6UISHG
SIILg SleMdHsH (peHeomwt GuIgaT wimr?
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a. OIGBLIT b. swemsdi C. 2QOUBMRIST
d. egresmes e. alemL O&MNwalevemev

Identify the Tamil writers who have received Jnanpith award.

a. Agilan, Jeyakanthan b. Agilan, Sujatha

c. Jeyamohan d. Puthumai Pithan, S. Ramakrishnan
e. Answer not known

SOP060 @i al(hgh CuBBeUTHeT - wimeuT?

a. O|B6velT, OIQUIBTHSH6H b. @idlevett, HegTSHT

c. Oxwathaer, OuwiGorseas  d. LSIIINGSHET, 6l6r0. FTLDE)(HAR6vT6s
e. alemL OFflwalevensv

Match the following committees with their purpose of setting up (Panchayat
Raj Committees)
Committees Purpose
A. LM. Singhvi Committee 1. Administrative arrangement for rural
development
B. G.V.K. Rao Committee 2 Community development
Programme
C. Balwant Rai Mehta Committee 3. Revival and strengthening of
Panchayat System
D. Ashok Mehta Committee 4. Revitalisation of Panchayat Raj
Institutions
E. Answer not known
A B C
1 3 2
4 3 2
4 1 2
3 1 4
e. Answer not known
SPHBTILILGLD  GHSImeT  DIHeT ol  CrpTéEsHEHIL el CUTBISSHa D
(LEhsTWISHSI JTE3 SW)
G0 GrrdhssLd
A. etev.61D.Fmie] &0 . ggmotiys Gowum’ GésTer bHiteuTs giuTh
B. G.V.K. gmeil & . Fepsd oialmhad FH LD
C. uevaup gmut GSHHT &1 3. ysUIT  oeMeHHed  OBBID  LEhIFTUISSI
(LpEmBeNU  GUGILILIBSHHIH6L
4. UEhFTWSHSH TTY BHnleuaimiseier LSHulT
B C D
3 2 4
3 2 1

D
4
1
3
2

D. 96srms GuwiHzm &H1
A




70.

72.

C. 4 1 2 3
d 3 1 4 2
e. alewL OFfwalsvensy

“One’s knowledge depends on how he learns”-What is the simile that
Thiruvalluvar uses in this meaning?

a. When water flows like a flood

b. In sandy soil, when deep you delve, you reach the springs below

c. When flowers, in barren soil, on sapless trees, shall blow

d. Like staff in hand of him in slippery ground

e. Answer not known

‘éF6T ool SBB eTalB@ SPley eamId” - @UOLTHEHSGHS S (HEU6TEHEUT
DI 2_auemlD 61517

. Gleueitengd Hemeurul LD6VTHL L LD

. QT Lemend MMl LoewiBEasemi

. eUBBed WD HelfliTdH SHW

. BWEHL 2 _emLujfl o2ammIsGsTeD
. el Gaflualsensv

Which one of the following is offered by the Election Commission to a
recognized political party?
a. Party name b. Election funds c. Election symbol

d. Election manifesto e. Answer not known

Leiteu(heueiaummled 6lend BCHTHe0 Siemeniuild HmSSHTNSHIUTL  FFluied &L FHG
QUG I BH!?

a. a4 Guuwir b. Gxiimed HH c. Cxiizmpen dlevrenrd

d. Gaizped Sflbms e. alewL QFHflwalevenev

“The compassion to share with and patronize lives is a primary virtue
praised by many scriptures”.

According to Thiruvalluvar, which of the following is considered the primary
virtue of life?

a. Helping others b. Loving others
c. Sharing lovingly to others d. Speaking lovingly to others

e. Answer not known

SIBHTEVHET FnDIlD  DIBHRIHETED  61606VTD  HEMEOWITUW B  6TGIMI  &Hl(HEUGTEHEUT
THMETSH  FnBISIMBITT.

a. 2 gal OFuIHe0 b. &6y umym (Ggeo C. UEGHHII6mIe00mIZH60

d. B&0FT6L FnmIHe e. alewL Gxfuialstensy

Consider the following statements:
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(I) The Indian fundamental rights are absolute.

(IT) The fundamental rights are enforceable.

Which of the above statements are true?

a. (I) only b. (II) only c. Both (I) and (II)
d. None of the above e. Answer not known
SIPHBTEILILIBLID UTSH B UIBIBMET  H(HDHIS.

[ @pgdunaled ogliemnL o flenoseT (LPILYELOWITETIENE

II. &ugriuenL. o MenioseT HewL (WeBUBHSH FnlgUienel

GBev &mewIILIBGLD SnBmIH6Ted FilwimTeienal sleneu?

a. o (b b. I o (b c. [ opmip 11

d. GBsMIL  6HIaLHe0m6D e. alewL Gxfuwalseneo

What does the word “Thuppakki” mean for Thiruvalluvar in this Kural?
“Thupparku Thuppaya Thuppakki Thupparku

Thuppaya Thoovum Mazhai”

(The rain makes pleasant food for eaters; As food itself thirst quenching
draught supplies)

a. Mazhai Neer (Rain Water) b. Paadhukaathal (Safety)

c. Undaakuthal (Produce) d. Unavu (Food)

e. Answer not known

"HIOUTTSGS SHUIUTW HIIUTSHH S SHILLTTSSHS

SIIUTW ST 1D De»ID”

SHmeueehauT “HINUTHH“ eTedip OFTe0IBE oTedlenT CUIT(HEIT HTETHIMITT?

a. LDemLPHIT b. uUTEHIBTHH60 C. 2_GUWILM&h(EH60
d. 2_ewiey e. alewL Gxfualstensy

Consider the following statements:
I. The doctrine of Eclipse is applied in relation to a pre -constitutional law
enacted before 26t January 1950
II. The Act is eclipsed when the constitution came into force and a shadow
falls on it because it is in consistent with the constitution.
III. All laws governed by Articles 13 (1) and 13 (2) are pre -constitutional
laws.

Which of the above mentioned are correct?
a. (I) and (II) are correct b. (I) and (III) are correct
c. (II) and (III) are correct d. (I), (I) and (III) are correct
e. Answer not known
SIPHBTEIILIBID UTH B UIBIBHEN6ET  SH(HFHID.
[. Aysewis Camun@p eeiugl 26 meteufl 1950-6@ (e SWIBBLLL L SFdluled
FNFT FLLMIBM6N &FT(HLD.




II. opdlwed snsed aubd LIBG (et 2 _eien FULMSeTeT WBH @b HIPsd LIL(
&BIJ BTGB LITL 19 63T 30 AUbHF) all(ha edrmeot. 6JGleuTenTlen Bl
SrFwevamwlIng @55 CUTsTHI

III. &g 13(1) wBmId 13(2) &1 S 2 6T DMOHH FLLBISEHD DJFuUisd
FIFMNHHMBHG (PALUTHE 2 6ol FL L MIBETTGLD.

BBev @mTewTIILIBLIMGUB6T60 eTeweu FlWiTeoTeney?
a. L wopmpn 1T & b. I opgip III &
c. [l wppd HI &l d. L, I wpgd 1T &M

e. alewL G flwalsdenev

The largest four digit number which when divided by 4, 7 and 13 leaves a
remainder 3 in each case is

a. 9138 b. 9318 c. 9381 d. 9831 e. Answer not known

4, 7 uwppib 13 g@ul @alOeum(n  eTewIemImeID  eu@GUBL  Qumipgdl 158 3-23
SHIbalgul WSLOLMNW BTG &6 616w

a. 9138 b. 9318 c. 9381 d. 9831 e. allew  Gxfualsbencv

Find the LCM of pair of the following polynomials x* -27 a3 x, (x - 3a)? ,
whose GCD is (x - 3a)

a. x(x-3a)? (x%-3ax+9a?) b. x(x+ 3a)? (x% +3ax+9a?)

c. x(x-3a)? (x2+3ax-9a?) d. x(x -3a)? (x2+3ax+9a?)

e. Answer not known

x4 -27 a3 x, (x - 3a)? @euppflenr 15.0um.6u. (X — 3a) etedfled L5.GLIT.LD.

a. x(x-3a)? (x2-3ax+9a?) b. x(x+ 3a)? (x2 +3ax+9a?)

c. X(x-3a)? (x2 +3ax-9a?) d. x(x -3a)? (x2+3ax+9a?)

e. allewL  Oxflwealedensv

If z=>52 and ACT = 48, then BAT will be equal to

a. 39 b. 41 c.44 d. 46 e. Answer not known
z =52 1oppd ACT =48 aaieo BAT =7

a. 39 b. 41 c.44 d. 46 e. alenL  GaMuialsdemsv

MB5E$RB3AK7#9$UDIN4 % FH2@8W.How many such consonants are there in
the above sequence each of which is immediately followed by a number and
immediately preceded by a vowel.

a. One b. Four c. Three d.Two e. Answer not known
M5E$SRB3AK7#9$UDIN4 % FH2@8W

GuBev o siten OFHTLMN6L o 6iTen o ML HaTe0, DIHH 2 WG (PTEITe0  6(h

o WOFWsHEHID SbS 2 mpilmusd  OBHTLAHSH  @@h  6TeNamld  6UJHanlgul
QLUICUWIIDSHSHISHSH6M 60T  6T6u0T60NHMBEMUI  HT6ENISH.
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a. @eIml b. preig C. ceiiyl d. 8gewip e. el GHfuwialsdenev

If Karkuzhali earns X 1,800 in 15 days, then she earns 3,000 in

a. 25 b. 20 c. 15 d. 10 e. Answer not known

15 priseied &mi&ped I 1,800-23 eumOTaNoTsl QUmEBTT. eafled I 3,000-23
BT &H61M60  eU(HLOTEILOTSL  GLMmIGUITT.

a. 25 b. 20 c. 15 d. 10 e. alenL Gz fuwalsveney

“Nalamana Tamizhagam” programme is implemented by
a. Directorate of Family Welfare

b. Directorate of Public Health and Preventive Medicine
c. Directorate of Medical Education

d. Directorate of Medical and Rural Health Services

e. Answer not known

"H6VLOTE  SHLOPSHID” FHI L LD 60 OFWEOLIHSHBLILGHBSI.
a. GOLUBeL BUISGSbBIHLD

b. Qurg &aTHTy WBBID HEU WHDHI BUISESHBIBHLD

C. I(HHGIUdH Heval BUISHGHISHLD

d. mssen DBDBID 2afs GHTHT CFameusen BUih@HBIHID
e. alenL  Ogfluialsoemsv

Which of the following is not the function of finance commission?

e

To recommend the distribution between union and state of the net
proceeds of taxes

Suggest the principles which should govern the grants-in-aid of the States
Suggest measures to augment the consolidated fund of a State in order to
supplement the resources of the Panchayats and Municipalities

To formulate a plan for the most effective utilisation of the country’s
resources

Answer not known

SIS UBMIOT [HlFH  pememiisbHer LT  GFwedUTH  DIGLEVTH  EiTeNB

GSBILLI_eD?

d.

afleefel Hay eumHLTISSHmaT HHUW WLBDID IHew DFs  SenLuied
alPCwnadds ufibaiemTiug

IOTHIVRIBEHEES 2 HUSMHTET  LOTWBIGmT  HiTeudlds  Geuemrigul
OameTendmemen LfbHSHIMT GFuiag).

UEhsTWHSHI LOBBID BBITLFH6T6N  eUeNhISMET FnBHe0TS 6H  LOTHIEVSHH 6T
QRUHRIHMMIHS HHmw DIHSNES HLEUQHMBHMET LIMHBHIM] 6ULDHIGEHIS]
BTLIQ6T  eUeNBIGemeT  WSa|D FHPUL  LWSTUGSHSHIUSBETET  H L He0S

AUSHSBHE0
e. alemL G flwaledenev




Who introduced the ‘Mid Day Meal System” in Tamil Nadu?

a. E.V. Ramasamy b. K. Kamaraj c. M.G. Ramachandiran

d. M. Karunanithi e. Answer not known

SODBHTL 1960 DGHW 2 a6 H L Hmd DBIPSLILBGSHSHWeUT wImiT?

a. F.Qeu. ®ymogmi b. @&. ®mogregt C. 6lD.83. @ITOF&FHET6I
d. w. smewmHg) e. alenL Oxflwealsdensv

Parliamentary privileges are specified in

a. Article 105 b. Article 194 c. Article 186

d. Article 172 e. Answer not known

LITJT@HLOGIMB  &Fe0I6NSHH6N6N 60 @MU L (HeiTerent.
a. alg 105 b. alg 194 c. alg 186
d. aig 172 e. alewL Gxfualstensy

How is the Village Naluvedapathy in Tamil Nadu region escaped from major
disaster 2004 tsunami?

a. Natural Mangrove Forest

b. Forest created by State Government

c. Sand dunes

d. Environmental protection act 1986

e. Answer not known

2004 gemmouller  Gurgd  SHUOIPESHHeL o eien  BEpGousLg ST  GLHLD
Guyeledmpbal eelauTm HUILIGHHH?

a. BUBMSWITS DINLDHSIGTEN FHILILHIEL SHTHH66IT60

b. mHlev ©FTed GUENTHBLILIL L SHTHHEMNGIT60

C. wewied Go@HamerlentTed

d. aBmIFEed UTHIETI] FU LD, 1986

e. alemL OFHMuwalsvensv

The parliamentary left in India is significantly denotes, a Ideology of
socio-economic and political design in the Post Colonial situation

a. Revisionist b. Democracy c. Marxism

d. Socialism e. Answer not known

@phHwraled uUTITEHLEB SLg OFmems  GUIUBHuG Bal
STV HBIAUSHBEGSG LhdSU Fepd QUIHEMTSHTY WBHBID DIFFuisd  allgaienLOLIL 6o
FSHBMHSLD.

a. HHSHHeLATHID b. sempTWISD C. LOTT&dwb

C. SLOHITIOD e. alemL G flwalevenev

Tidel Park in Chennai was formed by TIDCO and
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a. HCL b. ELCOT c. TCS d. IBM e. Answer not known
CFaiemanuled HB6UL OHTPVHIL L LRIST 2 (HeuThSUUL L  HBeuehigeT 19l Gsr
LOBHILD

a. Oam&.d.e160 b. ere0sML C. 19&leterd

d. efend e. alewL Oxflwealsdemev

As the Act of Anti Defection law

R: Independent members of the Parliament can lose his eligibility if he votes
for another political party against his own political party

S: Members of the Parliament and members of the legislative assembly will
loose their eligibility against the order of the political party

a. (R) and (S) are True b. (R) is True and (S) is False c. (R) is False

d. (S) is True e. Answer not known

&5 grsaed SOHUUF FUL algHuler SHHSH LI,

a1 swlemswnasd  CaHTHOSGESILLL  LMITEHLSEB  CaHTaabGl  LleteT
JgCapamid SFluied &L Fuled GCFHHTeL SUTSH 2 BIINIT HSGHHenwl

@upLim.

eTerd:  FUL LG UMITEHoIB 2 mILler(hd omHlev &FLULIOAIM o millernmseT &bhsH
FULOUg s Fule S L emeTdh@GIoTBIe aTHHMSHHTID 2 BILLNIT HSGHHenul
@UDLILITTEGIT.

a. (&) LBDID (6T60) 2_E0IenLD b. (&) 2 eenid (eted) Heoum)

c. (o) syl d. (ererd) o _eutenio

e. alewL G fwalsdenev

The first state in India to introduce a pension scheme for third genders is
a. Maharastra b. Kerala c. Delhi

d. Tamil Nadu e. Answer not known

ShHWTaled (PHT (LPHEOTH cLPIBTLD LTS SHTHEHHHTH @UIeHU!  (LPENMBEmUL
SIBPSUILGSSHW  OTHIGVLD

a. LDGMITAQYT b. Gasyenm c. OL6val

d. sw0pBTH e. ol G MNuwalsvenev

The following statement relate to the election of Indian President. Find out
the wrong statement.

a. He should be a citizen of India

b. He is elected by members of two Houses of Parliament alone

c. Should not hold any office of profit

d. He is elected by the members of the electoral college

e. Answer not known
SLPEBTEILILGLD aUTSHFHWRIST GHQUITd SHomevalller CHTHeO GBHHH. BFH6L 615l
SHOUBTET UTHSIWILD 6TeiTBl HewI(BHLISHSHaLD.

a. QT M DHIHWS GYLSETH E(HHH60 Geuewi(BLD.
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b. umyrEpEBHHE Fremeaiseien o minlaimaented WL G BHThHOGHHSLILIGETT
C. elaualHomet @eOTUSTLOTET OHTHeVID Ee06VTENLD

d. sweuey Cxitmed @evsumfl (electoral college) Gsitay OsuIHBS

e. alewL Gz flwailsdenev

Which of the following is/are correct with reference to Moovalur

Ramamirtham Ammaiyar (Ninaivu) Memorial Assistance Scheme?

[. The Scheme was introduced in 1989

II. The assistance is given to poor girls who have completed 10t std+2,
Degree or Diploma

III. The bride should have completed 18 years

a. (I) and (II) b. (I) only c. (II) only

d. (I), (I) and (III) e. Answer not known

CLPOUGOTT  @FTOMATHID SIDMOWITT H(HoewT 2 Halld HI LD OHTLTUTET LledTeu(hHLd

ampuiseiey Filwmerig ez / eteneu?

[. @A LD 1989-60 SHlouBISILULL S

II. 10 w@B@d 12-b UGy, ULLID, LU LUl L9 HEH eJenlp GLIewnTSEhdbHTand

III. wewoseT 18 auuInsd DIDLHH (HHH GalewiHLd

a. I wmpnd II b. 1 wi @b c. II @B

c. L IT wmmup I e. alewL OFflwalsvensv

When was the legislative council in Tamil Nadu abolished?
a. 1985 b. 1986 c. 1987 d. 1988

e. answer not known

GIOUIT(DEI SODHTL 1960 FL L Gosvensd &Hene0HBLILIL L )7

a. 1985 b. 1986 c. 1987 d. 1988
e. allewL  OFflwealedensv

The model based on the Tamil Nadu Human Development Index

a. United Nations Development Programme model
b. World Bank Model

c. Asian Development Bank Model

d. Reserve Bank of India Model

e. Answer not known

SODHTH weld GCobum’ G @BuilemL Sl Wnsd OsmewiL Lol
a. WHFW BTBHeMer euenTFdlsh HL wrgf

b. 2 s aumduier TS

C. ol euenii&Fd eumiglullesr LoTg

d. umye Matel eumidule I




e. alewL OFMwalsdensy

The word “TRANSTAN" is associated with

a. Speed of the train b. Parcel Service c. Rivers

d. Organ donation and surgery e. Answer not known
“TRANSTAN" siaiigniid Gamed DHEIL ST GHTLTLIGHL WG

a. @yuiedenr Geusid b. unfged GFemeu

C. SIBIB6IT d. 2 Led o @iy HTend wBEID Smenel HFbma
e. alemL OFflwealevenso

is the scheme for the scavengers and their dependents to form self
help groups and get loans with subsidies.
a. Moovaloor Ramamirtham Ammaiyar Self Help Group
b. Rajashri Self Help Group
c. Subamathi Self Help Group
d. Mother Teresa Self Help Group

e. Answer not known
aIye CHMOeUTNTH6IT BEID DTSN FTTHHAUTHET G 2 Haldh & (DHBH6I

SIMSHSH TONLISSHIL 60T HL6T UFH GUEBID S L 1D SYGLD.
a. CLPGUAVITIT JMOMOTSHID SIDeHLOWITT &l 2 FHalldbE L

b. greguf w2 seléGu

C. GLE &W 2 SHaldbEH (L

d. oemer OHIFT Gwl 2 FHalbEH(p

e. alewL Ggfwaisbenev

10 lakh candidates write the TNPSC Exam this year. If each exam centre is
allotted with 1000 candidates. How many exam centres would be needed?
a. 100 b. 1000 c.10000  d. 100000 e. Answer not known

10 ool g GCaieuismer @eleutenmi®d TNPSC Gaitey erpsIF BT,  @elGleuT(mH
Cax1ey emwsHHID 1000 GCaireuTamer GBpitey  erIpHNTed  61dHFHmans BCHiTa]
emLowmigseT Cxheneu?

a. 100 b. 1000 c.10000  d.100000 e. alewL Gafweaisoensv

2,4,12,48,240, .........
a. 960 b. 1440 . d. 1920 e. Answer not known
2,4,12,48,240, .........
a. 960 b. 1440 : d. 1920 e. alenL  Gafuiealsvensy




In a theatre, there are 20 seats in the front row and 30 rows were allotted.
Each successive row contains two additional seats then its front row. How
many seats are there in the last row?

a. b8 seats b. 78 seats c. 98 seats d. 108 seats e. Answer not known

R delor Rl  (pHeo  auflewFulled 20 B HEHMEBHEHD  GoTsHsk 30
aflengseEpd 2 oTenell. DIBHHBHHS @6alOeuth auflwFuleud SDIHSMBE (PHHSHU
afemgmw ol rewih SHIHMBHET FnbHHeVTH o 6ileniel. HewL &l  auflenguied
IHHMON BHBHMBH6IT E)(HHGLD?

a. b8 aufengsei b. 78 aufleng el c. 98 auflemwaseir

d. 108 euflengseit e. alewL QFHflwalevenev

Find the difference between Simple Interest and Compound Interest for a
sum of I8,000 lent at 10% per annum in 2years.

a.< 60 b.X 70 c.X 80 d.X 90 e. Answer not known
8,000 -3 10% ey oaisd ealed Srewic UMIBGHeN0 HDLEHEGD &al B
AU REGD Hell LRSS 2 66l AlSGHUTFSHMBS HT60IS.

a.< 60 b.X 70 c.X 80 d.< 90 e. allenL  GaMuwiealsdemev

If then a: b: c is

a_3b_
b c
12: 20: 21 b. 12: 20: 35 c.15: 28: 35 d. 28: 20: 12

=$ aiadley a: b: ¢ er@LSI

3
5
2
Answer not known
b
c
2

3
c
12:20: 21 b. 12: 20: 35 c.15:28: 35 d. 28:20: 12

a.
e.
a
b
a.
e. alewL G fwaisdenev




